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s F{x) z F{x) z F{x)
-2.5 0.006 -1 0.159 0.5 0. 691
-2.4 0.00s -0.9 0.154 0.6 0726
-2.3 0.011 -0.8 0.212 a7 0.ras
-2 0014 -0.7 0.242 0.5 0738
-2 0.01s -0.6 0.274 0.9 0816
-4 0.023 -0.5 0.309 1 0541
-1.49 0.029 -0.4 0.345 1.1 0864
-1.8 0.036 -0.3 0.332 1.2 0825
-1.7 0.045 -0.2 04221 1.3 0903
-1.E 0.055 -0.1 046 1.4 0919
-1.5 0.067 0 o5 1.5 0933
-1.4 0051 0.1 054 1.6 0945
-1.3 o097 0.2 0579 1.7 09595
-1.2 0115 0.3 0.618 1.8 0. 964
-1.1 0.1 36 0.4 05625 1.9 0971
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Find the curve of best fit.

X 0 1 2 3 - 5 6 /

v 14537 15605 16552 17229 18340 19,307 20,106 21,183
-2 4y < 10
'q'mé \j < 295,090
Lﬁqug."\x'\'\“\SQ\O.g
Find the curve of best fit.
X 0 10 20 30 40 50 60
v 100 75 50 35 28 20 15
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Find the curve of best fit.

x 15020 2% 30 35 40 4 50 55 60 65
y 223 255 275 290 288 300 299 302 304 288 274

Find the curve of best fit.

X 1 2 5 11 20 | 3 41 46 48 50
y | 2000 | 2640 | 3810 | 5220 | 6630 | 7900 | 8830 | 9250 | 9400 | 9560
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